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(1) Decompose the function into y,(x) and y,(x) andplot y,(x) and
(2) Expand y,(x) interms of Fourier series.

(3) Expand vy, (x) interms of Fourier series.

(4) Expand y(x) interms of Fourier series.

(5) If we look function to be period of 4, expand y(x) and compare the one of the period 2.
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(1) Expand f,(x) into Fourier series.
(2) Expand f,(x) into Fourier series.

(Hint:Parseval’s theorem)
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(2) ye(X):E
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(3) yo(x):éa(l—(—l) )S|n(n7zx)_kzz(‘;—(2k+l) sin((2k +1)7x)
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(4) vy (X)__+ZE(1 (-1)" )sm(n;zx)_a Z;Wsm((Zk +1)7%)
(5) a, :—[J':2 dx +J'0 dx] :—, a, =%[j2 cos(—” x)dx + I:cos(n—” x)dx] =0
=—[J' sm(—x)dx+jsm(—x)dx] —[cos(mz)+1 2005(—)]
ad 2 .
y(x) = E + ;msm((Zk +1)7%)
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(1) a, =EJ._1X dx=§, a, :J'_lx cos(nzzx)dx:(a) 4cos(nz), b, :Lx sin(nzx)dx =0
1 & 4, .,
fl(x):§+ém(—l) cos(nzx)
(2) a, :ljlxdx:o, a, =_|'l xcos(nax)dx =0, b, =_|'l xsin(nﬂx)dx:_—zcos(nn)
1 1 1 nr
f,(x)= i—( 1)" sin(nzx)
© l 72_2
@ Q=2 +Z_;,n2 =1, ;F=?~1.63498
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(4) ELX dx = 9+§n4ﬂ4, ;n4 o5 ~108232
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